Practice questions — Year 4 — Partitioning

1.
2.
3.
4.
5.
6.
/.
8.

1,236 = 1,000 + 200 + + (partitioning)

2,468 = +400+ _ + 8 (partitioning)
5,741=5,000+ +40+_ _ (partitioning)
3610=__ +600+ __ (partitioning)

= 3,000 + 500 + 60 + 1 (partitioning)

= 2,000 + 100 + 40 + 7 (partitioning)

= 4,000 + 700 + 20 + 5 (partitioning)

= 2,000 + 600 + 10 + 8 (partitioning)
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Practice question answers — Year 4 — Partitioning

© N O U A W N R

1,236 = 1,000 + 200 + 30 + 6 (partitioning)
2,468 = 2,000 + 400 + 60 + 8 (partitioning)
5,741 = 5,000 + 700 + 40 + 1 (partitioning)
3,610 = 3,000 + 600 + 10 (partitioning)

3,561 = 3,000 + 500 + 60 + 1 (partitioning)

2,147 = 2,000 + 100 + 40 + 7 (partitioning)

. 4,725 =4,000 + 700 + 20 + 5 (partitioning)

. 2,618 =2,000 + 600 + 10 + 8 (partitioning)
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